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To illustrate this point, consider this hypothetical example. Let's look at Kathy and
Michael. They are both 50 and in good health. After reviewing the underwriting
guide, | am quoting them the Preferred underwriting category.

Michael has Alzheimer's in his family history and wants to be certain he could afford
care in a facility if needed. Kathy and Michael live in an area where the cost of care
is high, so they want to maximize their coverage to protect their assets. They are
mostly interested in having the right amount of coverage to cover all or most of their
LTC expenses.

A private room in a nursing facility for 3 years would cost them about $263,000
each. To cover this cost, Kathy and Michael would need a $7,500 monthly benefit
each with a 3-year benefit period. Their individual annual premiums would be almost
$1,800, and the combined premium would be around $3,600 for both.
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Here's another hypothetical example. In this scenario, let's assume Stacey and
John are budget-conscious and have a limited amount of money they can spend on
long term care insurance. They would prefer to receive LTC care at home if possible
and want to insure for that possibility.

A Home Health Aide for 3 years costs about $135,000. Each of them would need a
$3,800 monthly benefit with a 3-year benefit period to cover this expense. Their
individual annual premiums would be around $900 or about $1,800 for both.

So what we see here is that for half the price of a policy that would provide enough
benefits to pay for most nursing home expenses, Stacey and John could purchase
enough coverage to receive care in their home. Of course, it's wonderful if they
want more benefits and can afford the associated premium. But if they don’t want to
or can’t spend this kind of money, they can still get meaningful coverage at a more
affordable price.
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